(i)

LRTS=30° and /RPS=50°

=~ 2USP=30° +50° =80°

(i) ZPOR=180° -50°=130°

® @
PTxTR=TS?
(7 +x)7)=9?
Tx=81-49=32

x=2_457
7

(ii)
LORP=40°
1x4.57

r

cosd40°=

1x4.57

¥ = = 2.98
Cos 40

30.3.3 Mathematics Alt. B Paper 1 (122/1)

1.

270+(90x2)+7x4-40+5
=270+180+28 -8
1

2

7056=2* x3% x 72

{7056 =27 x3x7

-84

2(2)+3G+5)
4x3x5
_ 4424

60

_
3

451
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(10 marks)

2 marks

2 marks

2 marks
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Width of floor = v/37.7% —=35.22
~.area of floor = 4/37.7% =35.2x35.2

=4752 m’

NO. LOG
43.2 1.6355
0.015 +
2.1861
1.8116
3.422 0.5343

/. CBG =180° -120° =60°
LECB=90°
4L BGC=30°

Volume of water in m®

21000 \

= —— = 2lm
100
Height of water
= 21 = 15m
4x3.5

452

3 marks

3 marks

3 marks

3 marks
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10.

1.

12.

N

Construction of AABC
Construction of _L as bisectors
Construction of circle

3x-2<10+x<2+5x
3x-2<10+x

2x <12

Xx<6

10+x<2+5x
-4x < -8

X <-2

x>2

S2<x<6

Length of L a, =12 sin 36°
= 7.05

.. area of frapezium
20+8

x7.05

= 98.75 cm®

Ratio of increase: 1200:800 .

= 3:2

Original price for a pair of trousers

L
2700 3

t = §x2700 = 1800

453

3 marks

3 marks

4 marks

3 marks
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13.

14.

15.

16.

17.

Shaded area

_ ngﬁxlO.SZ—%xlO.stinISOO

360
= 144.3169125-27.5625

= 116.7544125~116.8cm*

25=5% 35=5x%x7

LCM =

30=2x3x5;
2x3x5x7

199 _ y7.5m
60

Time =

=
-

4 marks

4 marks

a) Construction of at least 2 mediators
Centre of rotation (2,-1)
b) Angle of rotation -90°

Commission earned

%6 % 30000+ (84000-30000)

100

= 600+1890=2490

Total earnings
12000 + 2490 = 14490

a) 2400 x 120
= 288000

454

3 marks

4 marks
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b) Amount left
288000 — 13500
In Tsh. = 153000 x 16.5
=2524500
Amount in Tsh spent

40 x 2524500 =1009800
100

c) Remaining amount in £

60 y 153000x16.5
100 1980

= £765 10 marks

T -
e

“i?-i*-
<

=

-
LTt

..

== ;::#::éaa:#-nsﬂi-&-aq o

WAR

1
i
{

a) Drawing image A’B’C’D’

b) (i) image A”B”C’D”
(i1) mediator(s)

¢) (i) equation of line
“5-735 1
5-3.5

". equation y = x

Gradient

455
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19.

b)

b)

() 11,007 1(0,1);30,1) P (1,0

.. matrix of reflection in

(071
y=-xis
10

(7x+5)(x+10)
= Tx*+70x+5x+50
= 7x*+75x +50

7x% +75x+50 =600

7x* -35x+110x-550=0
(7x+110 x-5=0)

x=5

.. perimeter

=2(7x5 +5)+2(5+10)
=80+30=110m

110

— =22
5

Cross sectional area
- wx(0.32-0.267)
= 0.070371675 = 0.07

(i) External surface area
x2x0.3%x6.5+2x0.07

= 12.25221135+0.14
= 12.39

(ii) Internal surface area

= ax2%0.26%6.5

= 10.61858317 =~ 10.62

(iii)  Total surface area
12.39+10.62

= 23.01m’

456

10 marks

10 marks

10 marks

Powered By: www.manyamfranchise.com




21.

22

23.

b)

b)

b)

Location of B
Location of C

Distance of A from C
55
5.5x100=550 km

Bearing of A from C = 255°
Shortest distance of A from BC
Drawing L ar

Measuring 2.8 cm
Actual distance = 2.8 x 100 = 280 km

64 m* = 64 x 1000000

= 64000000 ¢cm’
v.s.f. =M = 125000
512

dsf. 12500 =50

Asf = 50*=2500

Amount of paint required
= 2500 x 0.004 =10

Cost = 10x 120 = 1200
distance travelled:

%x10x20=100m

average velocity:

10 x 25+ % x 25 x 20
= 250+250 =500

distance:

457

10 marks

10 marks
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*. velocity y =20

c) acceleration:

10 marks

h
i) — =tan16.7°
a) (i) 50

50tan16.7° =15.00071889
15.00m

h

(i) ? = c0s16.7

= S 52.20173912

cos16.7
=5220m

= tan&.35

50+ x

50+x =
tan 8.35

50 +x=102.1968412
X 102.1968412 — 50
5220 m

10 marks

458
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30.3.4 Mathematics Alt. B Paper 2 (122/2)

(0.52)x+/4.17

3.58911

=0.08000239

= 0.080000

P 20
a) R= 4 |-1-2 4
3 77 0 76

2x*-3x-5=0

2x2 5% +2x—5=0
X(2x -5) + 12x - 5)=0
Rx-5x+1)=0

Either 2x—-5=0 = x=2% .
Or x+1=0= x=-1

B / EN _ p:_ EN
N+P N+P
B*N+B*P=N
B*N-EN=B*P
N(B>-E}-B*P
-B’P B’P

459

2 marks

4 marks

3 marks

3 marks
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AB=4q—-6q+2p—144q

= -4p—10q
-4p-10g=-2(2p+59)=m (2p + 5q)
om=-2

1 1 8-5
a) ———=
5 8 40
- 3
40
b) 40 =13 1 hours
3 3
a) Angle representing maize

_ %L%O" ~ (200 + 100°+76° )] 32°

b) Total expenditure

= Sh. 528x§3—629 = S$h.5940

T TR _
CT T
NEEEE

\.Vv.\ )

17 full squares (ticked )
+ 24 part squares (dotted .) +2

= 17+£=29
2

29x 64

Areainmm? =
= 1856 mm*

460

4 marks

3 marks

4 marks

3 marks
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10.

11.

12.

13.

14.

a) Det. =3x1-1x1
=2

b) Area of image rectangle A'B'C'D'

=2x15

= 30 square units

ar® 192

ar 24

FP=8=>r=2
Mterm a=—=12
2
70=34-25=9
RTTS =x"=25x9=225

x=15
SRS =30

k&

U REE N ERE ) T RTT
; o 17
issassiisREss o
REpuSEn 11

8 ABEH

3 marks

3 marks

3 marks

& e pA 3
a) Points plotted

Line of best fit drawn
b) Value of y when x =7:19

Angle between A and B
= 32.8+21.2=54°

Distance between A and B

=ﬁx2x27—2x6370

360
= 6006

461

a

3 marks

3 marks
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15.

16.

17.

18.

Value by end of 2007

=1—02—x 720000
100

=734400

Value by end of 2009

2

= kSl x 734400
100
=662796

Time taken from 11 am to 2.15 am
= 2h 45 min '

Average speed = 240

2°
4
= 80 km/h

(a) (i) Simple interest:
Bal. to be charged
. 15 5
s totalint erest =56000 x - — x —-
100 12

=3500

(ii) Monthly instalments
_3500+56000

5
= Sh.11900

b) Cash price with discount

=80000x 26
100

=S5h.76800

Difference in prices

24000+ (11900 x 5) — 76800
.= 83500 — 76800
Sh. 67000

I

(a) (1) Common difference
5-2=8-5=11-8=3

(ii) Next two terms 14, 17

(i)  Ts=2+(30-1)3
=89

462

= 80000 — 24000 = 56000

3 marks

3 marks

- 10 marks
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(b)

(©

19. (a)

(b)

(©

Number of terms

5430=g(2 +179)

5430x2
n= =
181

60

Sum of first fifty terms
Sso= 5—20{2><2+(50 ~1)3}

Ef(x-})2 =54

= 25(4+147)
=3775
fx
15
16
15
24
14
16
> f_100_,
20 20
x—x f(x-x)?
-2 20
-1 4
0 0
1 4
2 8
3 18
N2
Variance = M
20
_4
20
=2.7
SD. = 2.7
= 1.64

463

10 marks

10 marks
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21.

(b) ()

(i)

(iii)

(@)

(b)

8 7 56
54 3 2 20 6 26
—A X = S = 2T
8 7 & ] 56 56 56
5 15 15 30
—X—F—X— = —f— = —
56 56 56
Area of A
1 .
=—x4 x7sin100
2
=—;—x4x7x0.9848
=13.79cm’
AC* = 4% +7* ~2x4x7cos100

=16 +49-56x ~0.1736
=65+9.7216

AC =J74.7216 =8.64

8.64+4+7
19.64

.. perimeter

464

10 marks
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22.

(©)

(a)

Sin6
4
Sin6
4

Sin@

_ sin100
8.64
_ 0.9848

8.64

_ 4x0.9848
8.64

=0.455925925

-0 =sin 70.455925925
=27.12°

Length of line passing thro’
2=9.8; 4=9.2;6=8; 8=6

465

10 marks
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23.

24,

(b)

(©)

(d)

(a) (i)

(i)

(b)

(a)

Area

—;—x2[10+0+2(9.8+9.2+8+6)] :

x 2[10 +2(33)]

S A

x2x76

Il
~1

6

Area of quadrant

= l><3.142><102
4
= 78.55

76

78.55
= 97%

% = x 100

AB = 4i +j— (2 + 5j)
=4i+j-2i-5
= 2i -4

AC =2(4i +) — (2i + 5))
=8i+2j-2i-5
=6i—3j

OD = 2i + 5j +Y4(6i — 3j)
=2i+5j+3i— 1.5
=5i +3.5j

Length of OD

= 52 +3.52

6.10

10 marks

10 marks

Time () 0 2 4 6 8

10 12

Temp (°C)

100 98 92 82 68

50 28

466
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3 X8 2R &Sy &

e maE an g
O T yis : ks
7 I'me (min) ‘ |
(b) Scale
Plotting

Smooth curve

.. 76-28
(c) (»
5
8 9.6’
5
(ii) tangent at t = 3 drawn
Gradient 102-30 _ 3

10 marks
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